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All questions are compulsory.

All gquestions carrv equal marks.

{a) With the help of diagrams, distinguish between
an increase in the demand for a good and
an increase in the amount demanded. What
tactors are associated with each of these

movements ? (3,2)

(b) From the market demand schedule given below,
calculate the price elasticity of demand for a
movement from (i) F to H (ii) H to F (iii) midway
between F and H. (2,2,1)

Point | A B C D F G H

Price 7 6 5 5 3 2 1
(Rs.)

Qty | 500 | 750 | 1250 | 2000 | 3250 | 4750 | 8000
(Gms)

(¢) When a supply curve is a positively sloped straight
line, prove that if it crosses the price axis, then all
along the line, elasticity of supply, e,. IS greater
than one, (5)



662 3
OR
(a) "The ability to substitute away from a good

increases with the narrowness of its definition.”

Explain this statement with an example. (5)

{b} From the table given below, calculate the cross
elasticity of demand between X and Y. What is

the relationship between the two goods ? (5)
! Commodity Before After
! Price Qty Price Qty
(Rs/Unit) | (Unit'Week) | (Rs/ Unit) | (Unit/Week)
100 15 100 10
Y 300 30 200 40

(¢) Prove that the change in revenue has the same
sign as the change in price when the own-

price elasticity of demand. e_, is less than

xx?

one and has the opposite sign when e, is greater
than one. (5}

(%) el i g ¥ Oy & fog Wi ¥ i ak AR
af ¥ gfg ¥ Fw Ty ) 3T TRERE ¥ ¥y ¥
WA FWAl H T |

(@) argm U # A d T FER ® (i) FE OH; (i) H
® F; (iii) F 3t H & S 11 &t vfifafo & fom =i

T Fha oW & gRaaT Fifow |
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fig | A | B | C| D F H
|7 5 5 3 1
T HA
T | 500 | 750 | 1250 2000 | 3250 | 4750 | 8000
i #)
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(@) 4R & 75wl A X R Y & d A A w9
w1 WREeT DT R T B @ @ gag 20

ELo T e A
W 4fe) | @festr ) i ) | @Res
qE ) |qmE)
X 100 15 100 10
Y 300 30 200 40
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2. (a)

(b)

{c)

5

What is an economic “bad” ? Draw a set of
indifference curves in which one of the
commodities is an economic “bad” and the other
an economic “good™. Explain the shape of these
indifference curves. (2)

A consumer pays Rs. 10 for the first 5 units of a
good but only Rs. 5 for all subsequent units. If
her weekly income is Rs. 100, what will be the
shape of her budget line ? Explain with the help
of a diagram. (3)

From the table given below calculate the income
elasticity of demand, e_ between points (i) A and
B (ii) D and F and (iii) H and L. Classify the good
between each pair of points. (3,3,
Draw the Engel curve from the data given
below. (1)

ri N
I Pomnts

aAlslclp | F|lG! H|L

| Income | 4.000 | 6,000 {8,000 10,000 | 12.000 {14,000] 16,000 18,000
é(Rs.:Year)

"Quantity | 100 | 200 | 300 | 350 | 380 | 390 | 350 | 250
|(Kg;’Year)

(a)

OR

A consumer’s budget line relating goods A and B
has intercepts of 50 units of A and 20 units of B.
If the price of good A is Rs. 12, calculate the

following :

(i) The income of the consumer

(i) The price of good B P.T.O.
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(iii) The slope of the budget line (1,1,1,)

(b) Why are intersecting indifference curves inconsistent
with rational choice ? (2)

(c) Explain the concept of the equilibrium of the
consumer. Why is the consumer not at equilibrium
at points where the indifference curve intersects
the budget line ? (4,6)

(=) e ‘e’ geg A & 7 SR T & U 4T
1 Wiy e T X ¥ e i e’ i gad
affs ‘a2 ) 3@ SWRAE 9@l W WET w1 A
T |

(@) T It v e @ W 5 gfE @ Rg o
2 qg o T IR B fr daw 5 T AW T AR
I GRS S 100 € B A IEH! gwe W I TR
T B 7 FE & Wem ¥ =R g |

() SR & 7§ e & By (i) A 9k B; (ii) D ;K
(i) H ok L & &= #0 &t o A, e H IR
g | Azl & wF IR D A9 TR W OTE
Y ¢
A By W wer ¥ v 9% @R

[EE AlB|CiID|F G{H|L
@ (T | 4,000 | 6,000 8,000 | 10,000 12,000 14,000 16,000|13,000
iy o)
HIET
(%;; v | 100 | 200 | 300 | 350 | 380 | 390 | 350 | 250
)
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(i) o &t @
(i) B @&y = =MWE

)
(i) asie & w1 e
(@) WA S 9% AT e & WY S B T

(1) Ioda @ WEET A FHREE H S HHC
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AR &% T W w1 WRedeT e 2

3. {(a) What is an inferior good ? Show the income and
substitution effects of a rise in the price of an
inferior good. Is the law of demand violated in the
case of such a good? (2,7,1)
Note : The examinee is not required to discuss the

case of the Giffen good.

(b) What is the Price-Consumption Curve (PCC)?
Derive the consumer's demand curve from the
PCC. (3,2)

OR
P.T.O.
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(a) Use the concept of income elasticity of demand
to define a normal good. Does the consumer
consider a2 good to be normal under all
circumstances ? Give reasons for your answer.
Show the income and substitution effects of a fall
in the price of a normal good. (2,1,7,)

(b) Explain with the help of diagrams why a consumer
in general prefers a lump-sum subsidy to an excise
subsidy. (5)

(%) ‘Freeaia @’ = A 7 Preela Teg A s #
gﬁfﬁmaﬁwwmaﬁuﬁﬁﬁﬁﬁqlm
# & P T @ Awg ® @ X JeAud B 2

fooqoft . wlend = e o @ d@ A R @
w2

(@) Fra-@us 7% (PCC) 1 #ar 2 7 PCC & S
& Wt aw FN FeAT Y |

' FeIdl

() W wEg AR e & fw A @ g - @
Ww@naﬁmlwquﬁﬁaﬁﬁfﬂ
TE T A A 2 7 oo IR & foe o e )
T T S EEE ¥ e @ am ok T g
= wefiig Hife
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4. {a) Whai are the relationships between Total Product
(TP). Average Product (AP) and Marginal Product
{MP) ? Using these relationships, show the three
stages of production. In which stage will the

rational producer function ? (6}

(b) Given MP,=3. P,=1, MP,=6 and P =4, 15
the firm employing the cost-minimizing combination
of capital and labour ? If not, what should the
firm do 7 (3)

(c} What are economies of scale ? Distinguish between

learning and economies of scale. (3.3)
OR

(a) With the help of diagrams show the relationships
between Average Total Cost (ATC), Average
Fixed Cost {AFC), Average Variable Caost (AVC)
and Marginal Cost (MC) in the short-run, How
is MC related to Marginal Product of Labour
(MP) 7 (6)

(b) Show that in a Cobb-Douglas production function
q = f(x, y) = Ax®y!™®, where A and o are positive
constants and 0 <o < 1 and x and y are the inputs,

P.T.C.
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if all inputs are expanded in the same proportion,
output is expanded in that proportion. (3)

{¢) Can a production function exhibiting constant
returns to scale be consistent with diminishing
returns to a factor ? Explain with the help of a

diagram. {6)

(%) a0 Ieme (TP), dfaw I (AP) 3k €W IwE
(MP) ¥ @y Ja=Y | I Faul F W I Ieared
# W e w owefn Sifw ) B smenr ¥
FHUMRT IoaeF FE HAN 7

(@) Bm @ 2: MP, =3, P,=1, MP =6 3R P =4 =W
wd S ot W B wEeE F AN - < @ fg
YA A @ @27 Ak A W W A w s ey ?

(1) wER sneniRa rfenmeu war ¥ 7 afemr s W
muﬂhaﬁawaﬁﬁmm|

‘ Al

(=) aﬁﬁéﬁm%a{mﬁﬁrﬁ'aﬁwaﬁm (ATC),
dled vl @A (AFC), stea aRadt s (AVC)
3t dmg s (MC) ¥ gdy wefffe #ifm ) MC g
THR #H F qMa I (MP) ¥ dEfia ? 7

(@) Wi it fF s@-Fow I wo §
q-—“f(x’y)=Ax“y"'“ﬁfHﬁ. A SﬁT o Wm%
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5. (a) Explain with the help of a diagram how a firm
under perfect competition uses information about
revenue and cost to make a profit-maximizing
output decision in the short-run. (7)

(b} A firm pays Rs. 5 lacs for the option to purchase
in the following vear a building worth Rs. 50 lacs.
If in the meantime another building becomes
available for Rs. 52.5 lacs. which building
should the firm purchase 7 Give reasons for your

answer,. (3)

{(c) Show with the help of diagrams that the impact of
a tax depends on the elasticities of demand and

supply. (5)
‘OR

(a) Explain with the help of a diagram the relationship
between short-run and long-run cost cusves. (%)

(b) Derive the Jong-run supply curve for an increasing-
cost industry. (5)

P.T.O.
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(¢} Distinguish between Wairasian and Marshallian
stable equilibrium. Show that equilibrium can be
stable in the Marshallizn sensc¢ but unstable in the
Walrasian sense. (5)

(%) 3 &t weT ¥ Rl St & g wer ot it
& FFT vF B o X A @ R § gEens &
WA O FeAEis § W - it S iz e
B

(W) ve w50 W@ F FW H vw f@afeEw A o o
W|ied & TF fawey & fe 5 wrg Ty &N 20 2@
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